oooooooor

00 0oO0f(oooooo)

1 OO0

goboobogooboobboobooobooboob.boooob,boonoboobb:

o00;000000000,
o00;000000000,
o 000000;000000000 =000000000000000.

000000 (0000000 0OD0)000000U0O0D. DO0DDO0OODO0ODO0O0OOOOoOO
ooo,0j0bo0obooobooboobobooboobL. Dboobbo,0boobbooboo
goo,0jdboboobooobog,oboooboobooboooo.

obooboobobooboobo,bobobo 2000,

o0OO0ODbOODODOODDOODOO,
o 0OOODOOO.

goooobo,0oboobobooboobbooboobL,boo0oboobDbooboooboDb. b
gooooobo,0boooboobogobbooboo. ooboobbooboboobo,obo
000000o000DoOO0O0 “O0” 000000000000, 00000000000000
0o0000000O000O000. 000,00 y=f(x)DODODODODOODO, fOO0DOODO
0000000000000000000O000000 (DDOD0D0DO0D0ODOO0O0). Doooo,
gooboobogoobooboobg,gobbgobboooboooboooon.

gooooob,ggbooobooboobbooboo. ooboobboob,o0boon
gbooogoboobboobobooob. bboobobooboobooboobooob,

oUOR™"OODOOODOO,00 F:U—-R*00000000000000,
o 0000 MOOOD,00 f:M—>ROpeMOIOOOD,p000000000,
o000,00000000 “RMO00C0000”000,0000000000,
o000,00000 “RMO000O00000O0OCOOO0O0O0O” 00000000,

*200900000 AOODOD
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goo,0b0boobooobooboobboo.goboooboobobo,obbooboobo
gboogobogooboag.

2 00

O000,00 R2OOOODODOOOOOOOO,000000 (0000000000000
0O000)00000. 00000000000 0o0o0oU0oOoU0oO,0000DoO0oUoOOoUoOo
gooooo.

21 0DOOD0OOOOO

00 2.1. J0 ROODODOOOO. OO ¢:/—R*0 0000000000000 00,000
00000: (1) cO C®-0, (2)Vte I, d(t) #(0,0).

oooooo c(I)D Ooooopooo ooo. Oog c’(t)l]DDD oogoooo ooo. oo
00, e(t) = (2(t),y(t) DOOD (1) = (2/(),4/(1)) DOD.
0 22. 000000000CO0O0OOO0OCOOO:

(1) O ¢: R —R?: ¢ (cos(t),sin(t)),
(2) 00 c:R—>R2:¢t—ti+b (000 a@+#0).

0 23.00000000000000000000:
(1) ¢c:R—R%: 2 (x,]z]),
(2) c:R—-R*: ¢t (3,¢3) (0000 t>0000000,0000000000).

22 0DOODOOOOO

00 24. /0 ROOODOOOO.C*00 f:I—-ROO0OO,
(1) 00 {(z, f(x)) |z} 0 y=f(x) 0 ODODO OO0,
(2) 00 {(f(y)y) |lyel} 0 x=f(y) D OO0 DOO.

o0 25 C*00 f:I-ROO0O0O0O,0000000000.

00000000000000,y=f(z) (000 z=f(y))0 00000 0O0O0. OO 25
0,000000000000000000000000.00,000000000000000
0O0O00,00000000.

00 26. 00000000000 ¢:/—R>0,0000000000000,0000,00
00: Vtel, 3, (t000): ¢lpy) 000000000,



oo00,000000D00000 fO00000ODOOOOO0O. 00O fOOOOOO,0000
gbog.gobboog,bbooboobbooboooboobboobn.

0 2.7. 00 ¢:R =Rt (art + by, ast + b)) (000 (ar,a2) # (0,0) 0, 0000000
0Ooooooo:

(1) a1 #0000,y = (az/a1)z + b1 — (azb1/a1),
(2) a2 #0000, x = (a1/az)y + ba — (a1ba/az).

23 0ODOOOOOOO

00 28 UOR20000,F:U—ROO0OOOO.0000, F(z,y)=00 000000
0000000 00,00000000: (1) FO C®-0, (2) F(z,y) =0= (JF) 4, # (0,0).

000 (JF)(uy O Jacobi 00 0OO:

(z,y

) = (o). 5 010)

0 2.9. F(z,y)=2*+4*—-1000000.
0 2.10. a>00000, F(z,y) =y?> —2*(r+e) 0000000000,
000000000000000000000000.

00 211. C*-00 f:I-RO0OD00 y=f(x) D000, F:IXR—-R:(x,y) —y— f(x)
0000, F(z,y)=0000000.

gbo,b0d0boboobooobooboboob,boobbogb.

00 2.12. F: U —-RO0OD0OO0O0OO0OOOO0O0O0OO F(r,y) =00,000000000
0000, 0000,000000: Y(2o,40) (F(ze,y0) = 0), 30" € U ((zo,y0) 00 DO) :
{(z,y) eU' | F(z,y) =0} 00000000O0.

0000,00000000000 fO00000000000.00 f000000,0000
0000.000000,00000 F(z,y)=00 y=f(z)000 2= f(y) 00000000
0DO0000000000O000.

24 0O0O0O0ODO

0000,00000000¢:I—-R?20000 J0000000,00000000000
gbooog,bboooboobobg. ogbb,ecgboon.



00 2.13. M OO00OO00O. C®°-00 y:(—e,e) MO t=000000000 ~/(0) 0, O
0MO~(0)eMODODO0 00000 OOO.

000 v:(—6,e) MO C®-0000000,000 R2POODOOOOO v: (—e6) — R?
0 C>~-000000000000.000000000000,00 p000000000000
Doooooo.

0 2.14. 0 22442 =10000000000:VaeR, (0,a)0 p=(1,0)000000000.

00 215. T,M:={p+u|uw0 pO0000 MOOODOOD }0,00 MOpeMOOOO
oo ooo.

gobo,0b0bbb0 pdooobobbooooobobb,bbboogobobboboog. ooo
gooo,ggoooodb.gob,bboooboboboobbooob,booobboooobo
oooO0o00 (booD,/0000000,0000000D000DO00DOOODO,00000).

00 2.16. 00 M OO0O,c: 1 —»R200000000, F(z,y)=0000000000. O
000,p=c(t,) 00000000,000000:

{p+sd(ty)|seER}}=T,M ={p+u| (JF),u=0}.

00 R?0000,peR?200000000000000
T,R* :=p+R*={p+u|ucR?

000000000, 7T,McT,R2000. 00000000000000;T,R*0 p0000
00000 200000000000000000,000000,7,M 000 1000000
(00D000D0)000. 00, Jacobi 00 (JF), 0000000000,000000 p0O00
000000000000000D0.

0 2.17. y=f(z) 00000 (z0, f(z0)) 00000000000 y=f(x0)(z —x0) + f(20).

25 OOOO
o0 2.18. z-00,000000000DO0DO0ODOOOD0ODODOODOODOoODOobODOobDobDOooDg.

00 2.19. C*-00 ¢c:R—R?*0,0 ¢(R)0 2-00000,000000000000000
goooobg.

00 2.200 M OOOODODOODOOOO. OOD0OO,MOOODOODOO é0OOOO (a,b) O
0000000000 M'0,0000000000000000A0.

00 2.21.¢>0000. 4> -2*(z+e)=00000000000000.

o0 2.22. 0 2170,00 2160 JacobiODOOODODOOOOOODODO.



3 00

O000,00 RROODOODDDOOOOOOO,000000 (0000000000000
0000)00000. 0000000000000 0o0U0oO00O, 0000000 O0O0OO
ooooob.0obO,000b0o0oboboobooboooo.

31 00O0O0OoOoog

00 3.1. DO R?P0000000.009p:D—R*0 0000000000000 O0O,0
Doooooo: (1) p0 C*-0, (2) Y(u,v) € D, rank(Jp)(y,v) = 2.

ggn (Jp)(uﬂ,) O,p0 (uv) DOOO Jacobi DOOOO. OOOOO0DO plu,v) =
(x(u,v),y(u,v),2(u,v)) OO0, 000000 p,,p, 0O0DOODODO, Jacobi 000

Ty Lo
(Jp>(u,'u) = (puapv)(u,v) = Yu Yo
Zu Zy (uv)

D000O0. 0000, rank(Jp)uey =2 000000, {pu(u,v),p,(u,v)} 000000000
ooooooo.

0 3.2. 0000000000000000000:
(1) 00 p:R2 5 R3: (u,0) »ui+vb+¢ (000 @0 bO0O0O0O0).
(2) 00 p:R? —=R3: (u,v) — (cosu,sinu,v).

goboobobo,00bo0obbooobbo0obboo0. oob,zy-00b00O0O -DO00O
goooooboog,obogoooooo.

00 83. ¢c: 1 >R2:tc(t) = (2(t),y(t)) 0000000 OOOOOOOOOO. 000D,
p: I xR—R3: (u,v) — (z(u),y(n),v) 00000000000 000ODOO.

Ub,000,z--000000 -00000000000,000000000A0.

00 34. c: 1 - R2: ¢t clt) = (z(t),2(4) DD0D0O00O0O0OO0O0O0OO0D0O00. OO
() >0Vte)DDD00000,p:RxT—R3: (u,v) — (cos(u)z(v),sin(u)x(v), 2(v)) O
gooboobooobooooboo.

00000 p(u,v) 0,2z2-00000 ¢0,z0000000«0000000000O0OO:

cos(u) —sin(u) 0 z(v)
p(u,v) = | sin(u) cos(u) O 0
0 0 1 z(v)

00000000000 pu,v) 0 OO0 OODO.



0 3.5. 00000000DO0O0ODO0DO0OOOOO:
() 0 (0O00) p:Rx(0,7) — R3: (u,v) — (cos(u) cos(v), sin(u) cos(v), sin(v)),
(2) 0000 p:R?2 - R3: (u,v) — (cos(u)(2 + cos(v)), sin(u)(2 + cos(v)), sin(v)).

0000000000000 p:D—R30000,000 p(D)0 000 000 (DOOO0O
0000000000,0 22+4%2+22=1000000000000000000). 0000
0000,0000000 (000000000000)0000000.

32 0O0OO0OOOOO

gobooobogo,bogobooboobooboooobog.

00 3.6. C* 00 f:D—-ROOOO,p:D —R3: (u,v) — (u,v, f(u,v)) 00O DOO00
gooogooooog.

00 3.7.C>~00 f:D—-RO0DODOO,00 {(x,y, f(x,y)) €R3| (z,y) € D} O 2= f(z,y)
0000 000.

0o00,z= f(y,2) 0 y= f(z,2) DOOO0OOOOOO. DOOOODODDOOOOOOO,
z=f(z,y) 000 ODODOO0O 0ODOO. 00 360,0000000000000000000OO0
gooo. oo, 0obooobgoobbooboooboo,obboooobog.

00 3.8. 0000000000000 p:D—R30,0000000000000,0000,
00O00: Y(u,v)eD, 3Dy (u,0) 000): p(Dy) D0D0000O0OO.

gddd,jjooooo,ooogo (QDDDDD,DDDDDDDDD)DDD.
0 3.9. 00 p:R? - R?: (u,v) — (ayu + b1v + c1, asu + bov + co, azu + bzgv + c3) O
mnk(a1 b >:2
a9 b2

0000000, z=ax+PBy+y000000000O.

33 00O00oooog
goboobooo,bboobooobooboboon.

00 3.10. UO R¥0000,F:U—ROOOODOO. 0000, F(z,y,2) =00 0000
000000000 00,00000000:

(1) FO >0,

(2) F(2,y,2) =0 = (JF) (2,4, # (0,0,0).



0 3.11. F(x,y,2) = 22/a®> +y*/V* +2%/c> -1 0000, F(r,y,2) =0000000000
00000 (000 a,b,c>0).

gboboobogoboobbooboboooboon.

00 3.12. C~-00 f:D—-RO0O0O0O z=f(z,y) D000, F:DxR—-R: (z,y,2) —
z— f(z,y) 0000, F(z,y,2)=000000000000000.

gb,budgbboobboooboobboob,boobobgogb.

00 3.13. F(x,y,2)=00,0000000000000000. 000000DO0OODOOOO
D0000,0000,000000: Y(zo,yo,%20) (F(z0,Y0,20) =0), 3U" ((z0,¥0,20) DO DO) :
{(z,y,2) e U" | F(x,y,2) =0} 0,00000000.

0000,00000000.000000,00000 F(z,y,2)=00, 2= f(z,y) 000
000000000000000000000.

0 3.14. F(z,y,z) =ax+by+cz+d000.00 ¢£0000,0000000000000
00000: z=—(1/¢)(ax + by + d).

34 00OO0OOO

0000,00 M=p(D) 000000 p:D—R30000 DOOOOOOD,00000
00000000000,0000000000.0000,p000000.

00 3.15. MOOOOOO. C®-00v:(—e)— MO t=000000000 4/(0)0,0
0OMO~0)eMDOODODO ODODOO ODOO.

000 v:(—6,e) = MO C®-0000000,000 REOODOOOOO v: (—¢¢) — R?
O C~-000000000Oooa.

0 3.16. 0 22 +¢*+22=10000,000000: Va,beR, (0,a,b) 0 p=(1,0,0) 000
oooooo.

00 3.17. T,M :={p+u|uD p0000 MOODOOO }D0,00 MO peMOOOD
0ooo ooo.

goobo,0bbbd poobbb0ooooobobbo,bboo0oobobobboooo. oo
MOO0OOOOODOOOD (DOD0O0DO0O0O0OO0O0OO0O0O0O0)0000,0000000,000000
goo.



00 3.18. 00 M OOO,p: D —R* 00000000, Flz,y,2)=0000000000.
0000, po =plug,v) 100000000,000000:

{po + apu(uo,vo) + bpy(uo, vo) | a,b € R} = T, M = {po +w | (JF)p,w = 0}.

o0oooO0oooooooo, T, MO0 po 000000000 20000000000000
O000. Jacobi OO (JF),, DO0O0O0DODOO0O0,D000000,000000 (DOOO)O
ooo0oog. oo, Jacobi 0O (JF),, 0000000000, 000000 po0000000O
goooobogooog.

0 3.19. 2 = f(z,y) 00000 (20,50, f(z0,50)) 0000000000000 DO0DOD:
z = fu(zo,y0)(x — 20) + fu(zo,50)(y — vo) + f(z0,v0)-

4 OO0

o0o00,00000000000000 (DO0D0)00O000.0000DO0O0DOO0ODOOO
g, 0bogoboogooo.

41 0O0O0OOOO
goog,obboobooobooboboobboobboo,obbooboog.

00 4.1. 0000 M= (M,0)0 000000 0O0OO00OO0,000 2000000000
0000,0000,00000000: Ve,ye M (z#y),30,,0,€O0: x€ Oy, y € O,
O, N0, =0.

gooooooodooo,R"Oo0bb00b0Oo00obDoobooooo,booo.

00 4.2. 00000000 MOOOOD,00000000 {(Us,9.)} 0n000 00000
000:

(1) {U,)0 MDOOO,

(2) VaOODO, o : Uy — pa(Us) CRPODODOODO,

(B) UsNUg#0D0D0DO, pgoprt:wa(UanNUs) — 0(U,NUg) O C*-000.

0ooo,U,0R*"000000D0000 (0O (2),M00000000DO00OODOO0O
(00 (1)). 00 (3)0,0000000000000000.0 (Ua,pe)0 OD0OO0 ODO,O
0 (3) 000 ggop,'0 0000 OODO.

00 4.3. 00000000 MO »nD0OO0O0D00 0OO0,00000 {(Ua,ee)} 000000D0O.

0000,C>*-00000000000000000D0O0O0O0000.



00000000 (Us,9e) 000000,0000000000000000000000
0.000,00000000000000000,000000000000.000000, 0
S1:={(z,y) eR? |22+4?> =1} 00000000,0000000000000000000
0000,000000000.

04.4.08'0100000000.00,00000 ¢:R—R%:¢t+— (cos(t),sin(t)) 000
00000000 {(U,ea!h),(Us,e; )}y 000000

cl = C|(O,27T)7 Co 1= C‘(ﬂ’gﬁ), U1 = Im (Cl), U2 = Im (CQ).

42 0O0O0O0O0OOOOO

gbobogboogobooboboa,gbboobboobboobog.
o0 4.5. DO R O0O00, f:D—-R"0O C®-00000.00 f0 000 O0OO:
graph(f) :=={z = (2;) € DxR" | f(x1,...,Zm) = (Tm+1,- - Tmin)}-
000 m=n=10000,graph(f) 0 y=f(x) 00DOO0ODOOODOOO.

00 4.6. C>~-00 f:D—-R™™ 0000,0000000 ¢:graph(f) =D O000D0O:
O(T1y oy Tin) = (T1, oo, T).

000 0O fODDOCOOCOO,0000000.00,¢0 @71DDDDDDDD,DDDDD
good.

0 47. DO R™ 0000, f:D—R™™ Q0 C®-000000,graph(f) 0 mO0000.

00 4600000 00000,00000000000 (graph(f),p) DOOODOOOO
o.odob,0oobbooboboobb. oboobbooob,boobbooboboooo
goooobogoboo,0boobobooooo.

0 4.8. 0000000 {(Ux>0790x>0)7 (Uoc<0790x<0)7 (Uy>0790y>0)7 (Uy<0790y<0)} 0 ) U Sl 0
ooooo:

Upso :={(z,9) € ST [ >0}, om0 Upso — (=1,1) : (z,9) — v,
Upco :={(z,9) € ST |2 <0}, @uco:Usco — (=1,1): (z,9) — v,
Uyso :={(z,y) € S' [y >0}, @ys0:Uyso — (—1,1) : (z,y) — =,
Uy<o :={(z,y) € S' |y <0}, @yco:Uyco — (-1,1) : (z,9) —

00000000 (000,U,s0 z=+/1—-y?0000)00000,00 4600,000
00o000o0o00o0. 00000 Cc*o0ooo0oo,0000000o000o.

0 4.9. S? :={(x,y,2) eR? |22 +¢*+22=1}0 200000.

000,820 6000000000000.



43 000O0ODOODOOO

goooboooobobo,0ggbobbooobobooobobobo0o,oooDboboooooD.
goooodog, 000 nODbOOOODODOO0OO0OO0OO0OO0OO0OOLO, 00000000 OODo
go.

00 4.10. UO R20000,F:U—ROO,F(zs,y)=00000000000000000
0.0000,M:={(z,y)eU|F(z,y)=0}0 100000000.

000000000000000000000000;00 21200,00000000000
00000000.000,000 peMO0000,p000 U,00000000000000.
U,0000000,0000 ¢,:U,—1,([,0 ROODOO)00000. 000000000
{(Up,0p) [ peM} O, MOODO0O00OODO.

00 411. UD R* 0000, F:U—ROO, F(z,y,2)=0000000000000000
O0.o0000, M :={(z,y,2) €U | F(z,y,2) =0} 0 200000000.

ooo0,00o00bo0b0ooboo. 0D 31300, 0bbooobooobooobpDooboooDo,
gooooboobboooboobbooob.bo,oboboobo,0boobboobbooboo
goo.

00 4.12. UO R™0000,F:U—R*"0 C®°-00000,M:={peU|F(p)=0}00
0.00 rank(JF), =k (VYpe M) 00000000, MO (m—k) 00000000,

00 4100000 (m,nk)=(2,1,1) 000,00 4110000 (m,n.k) = (3,1,1) OO
0,000000.00000,000000000000000000000000.

0 4.13. 5" :={(z1,...,%nq1) ER*" ™ |2} +--- 422, =1} 0 n 00000000,

00 S"0n0000000.0000, F(z1,...,%p41)=25+---+22,,—-1000000
OO0 F:R* wROOOODOOO.

0 4.14. SLy(R) := {X € My(R) |det(X) =1} 0 300000000.

000 M,(R)O nxnO00000000000.000,M(R)O R*00000O00OO,O
0 41200000000.00000,000000.

0 4.15. 000000000:
(1) SL,(R) :={X € M,(R) |det(X)=1}0 n?—100000000.
(2) O(n) ={X e M,(R) |'XX=1,}0 n(n—1)/200000000.

SL,(R) O n00 O00O0O0,0()0 00 000 000.0000,000 (000000
0000000000)000000000.

10



44 0O0O0OO

o000 RrO00000O00ODOOO0O0OO00ODOOO0ODOOUODOO,OD00DOOO,R*O0
goboboobbooooooobooobooboo. bdooooooobboog,ogoooooob. bo
oooboobooboboobobo, bbb booboooboooboobbooo.

00 4.16. RP*:= {{cR"!|¢0 100000000 }0 00 00000 00O.
00000 RPPO0000000000,00000.

00 417. 00000 RP*" 0000 X/ ~00000000000. 000000, X :=
R\ {0} 000,0000 ~0000000: 2~y < IAeR\{0}st. z=Xy.

000,000000000000000. RPPOD0OO0OOOODOOO,O00 X =
R\ {0} 0 R*"' 0000000000, X/~0000000 n:X—X/~000000
Doooooo.

00 4.18. RP" 000000 DOOOOOO0ODOOODOOOOOOOn.

0o0o0oo0og, z=(xg,21,...,2,) €EX 0 70000 w(x) =[xg:ay:---:2, OO0
obooo0o boob ooo.

00 4.19. RP*"0 nO0O0O0OODOOO.

0000000 {(Ui,e)|i=0,...,nY 000000000:

Ul:{[xoxn]ERP"Mcl#O},

Spi:Ui_)Rn:[IEO:"':wn]'_>(1/xi)(x0)"-753\757"'71‘71)'

000000,z; 00z, 000000000000 O0O.

45 0000

000000000000,000000000000000 (DOD0DDOU0DO0OOO0,00000
O0o00000000). 00000000, 000000000000000. DOD0O0UOOoOOo
gboboob,bodg,0buobbogboog.

00 4.20. M, NOOOO, f:M—>NOOOOOO.

(1) fO pe MO C*-000 0O0000,00000000: 3(U,¢): p000 MOOO
00,3(V,e): f(p) 00O NODOOO sit. o foe t O pp)d C®-0.
(2) f0 C~-000 00000,00000000:VYpeM, fO p0 C®0.

00 ¢ofop 00000 ¢(p) 000000000 (pU)0000000000000).

11



0 4.21. 000000 C*-0000:
(1) f:R — S*: ¢t (cos(t),sin(t)),
(2) f:8" = RP": 2z~ Rx.

O00O000ooooooo ¢~-0b0,0000ooooooooooo e ooooooo,
00o0000oo0o0ooO0o0ooO0 c*ooooooooooo.

00 4.22. M,NOOOO,f:M->NOOOOOO. fO peMO C®-000000000
00000,00000000:Y(U,e): p000 MODOOO,VY(V,y): f(p) 000 NOO
000,%ofop 0 ¢(p) 0 C®-0.

00 4.23. 000000 MO NO DOOOD 0O00O0O0,000000 f:M—-NOOOO
O00.000,f:M—-NOOOOOOD ODOO0O00,00000000: f00000, f0O
f~to Cc~-ooo.

00000 (0000000000000 00O0) 0000000000, 0000000.

0O 4.24. 00000 r>00000000000O.

46 000OODOOO

oooooobobobobbbboo0ooooooooooooooobobobb. oobobobobo,
gbooboooooooo.

00 4.25. MO mQOOODOO,UD0 MODOODOOOO, U0 mOOOOOQOOD.
goobooboo,00oboboobooooo.

00 426. MO mOOOOO, NOnOOOODOOOO,000MxNOm+n0OOO
gbooogo.

OO00oo00ooOdooooo0D MxNO OODOD oOO.

0 4.27. 000000000:
(1) R20,0000 R xR,
(2) 00 {(z,y,2) eR3 |22 +y2 =1} 00,0000 S xR.

0000000,0000 (coveringmap) J000D0DO0O.

00 4.28. £, X 00000000. 000000000 #:E—X0O 0000 00,0000
0000:VzeX,3U (z0000)s.t. VU, (x~2(U)00000), 7|y, : Uy — U OO0D0D00.

000000000000, FO00 XO00O0ODooooooooooooo.

12



0 4.29. ROODODOO0OOD s~y 2x—y€Z0000,0000 R/Z:=R/~000.00
O0,000007:R—-R/Z0O00O0DO.

00 430. FO mO0ODO0O, X OO0OODOODOOO,n:F—-X0O00O0O0OO0OO. O
U00DD »~3(U)000000000000000000ODO0, X0 mO0DO0ODO0OO0OO0OO. O
Od,r:F—-X0O0O0OOODOOODO.

000000000000 X0 0000 000.000 »:E—-X000000000,0
0000000:VpekE,3V (p00O0),3U (x(p) 000)st. 7:V -0U 00000,

0 4.31. 0000000000000, 000000000:
(1) R/Zz0O stooooo,
(2) R?/Zx {0} 0 S'xROOOOODOOO,
(3) R?/z? 0 S'xS'ooooooOoDOO0.
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